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Background

The work on Multimedia Telephony and the corresponding supplementary services raise some questions with regards to coordination on the SSs between CS and IMS. This contribution outlines a couple of use cases to illustrate the issue. No recommended way forward is proposed, as the document wants to initiate the discussion and is open to input for how to solve this issue.

Use-case 1, co-ordination of SS-invocation 
1. An end-user (A) has CS-voice (with the SSs on call diversion activated) as well as PS-MITE (with the SSs on communication diversion activated).

2. (A) gets out of PS-coverage.

3. (A) gets an incoming call destined to his PS-MITE application.
4. The AS of (A) indicates out of coverage for PS and forward the call. How should this be handled?

1. Would it be natural to transfer the terminating call to (A)s CS-domain before attempting any diverted-to number in the PS-domain?

2. Should the diverted-to number of (A) in PS-domain transfer the call to the indicated destination in spite of a subscriber that technically could be reaced over the CS-domain? 
3. Should coordination of this be handled in the network?

4. Should coordination of this be handled by the UE? 

5. Should the service be limited to the end-user; thus should the operator not provide a subscriber with the 'same' SSs for both CS and PS simultaneously?

Use-case 2, co-ordination of SS-manipulation 

1. An end-user (A) has CS-voice (with the SSs on call diversion activated) as well as PS-MITE (with the SSs on communication diversion activated).

2. (A) gets out of PS-coverage.

3. (A) manipulates his SS on call/communication diversion.
1. Would it be natural to have one common end-user API and thus assume that the call diversion and communication diversion should be equal (i.e. same diverted-to number) are used for CS and PS? 
2. Would it be more logical that the CS and PS applications are independent and thus the end-user gets an error if trying to manipulate a communication diversion service while out of PS coverage?

3. Should coordination of this be handled in the network?

4. Should coordination of this be handled by the UE? 

5. Should the service be limited to the end-user; thus should the operator not provide a subscriber with the 'same' SSs for both CS and PS simultaneously?
